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DECEMBER 2C21 (INSEM+ ENDSEM) EXAM

F.Y. B. TECH. (SEMESTER - I)

COURSE NAME: PYTHON FOR ENGINEERS

COURSE CODE: CSLO}O?B
(PATTERN 2O2O)

Time: [2Hr]

{*} Instructions to candidates:
U Figures to the right indicate full marks.
2l Use of scientific calculator is allowed
3) Use suitable data where ever required

[Max.Marks: 60]

Ql Solve

i.

ii.

iii.

iv.

the following

What will be the output of the following Python code?

a:|rl,2,3\
b=a.copyfl
b.add(a)
print(a)
a) {1,2,3} b) Error, invalid syntax for add
c) {1,2,3,41 d) Error, copying of sets isn't allowed

What will be the output of the following $zthon code?

numbers = [13, 30, 17, 45,321
numbers.sorted0
print(numbers)
a)[13, 17,30,32, 451 b)[13, 30, 17, 45, 32]
c)[13, 17, 30, 45, 32) d)[13, 30, 17, 45, 32) e)AttributeError

What will be the output of the following Python code?
numbers = 12,3,5,71
numbers. sort(reverse=true)
print('Reversed List:',numbers)
a)17, 5,3,2) b\12, 3, 5,7) c)NameError d)[7,3,5,2]

What will be the output of the following Python code?
12=17,2,3,4,"XYz",51
12.insert(3, [ 1.0,2.0,3.0])
print(12)

1,2, 3, 7.O, 2.O, 3.O, 4,',XYZ" 5l
1,2, 3,17.O,2.O,3.01, 4, 'XYZ" 5l
7,2,3, [1.0, 2.0, 3.0], 'xYZ" 5]
l, 2, 3, 4,',XYZ" 5, [1.0, 2.0, 3.0]]

[30]

.21

I2l

12)

12l

a)
b)
c)

d)

1

u tLl*?t,l n (FrPAPER CODE

L

L

t

t

t



(

v

vl.

v11.

v111.

What is the outPut of the following?
6=1t2,141
B=17,2,5,41
A<B
ffal". b)True c) Invalid Operation d) [1'2 ]

What is the output of the following code

""*pflni"t 
= dict([ ('first', 1),('second" 2)' ('third" 3)])

print(samPleDict)'"iitri"t',ioo1, ('second', 200), ('third" 300) l

b)bptions: Syntaxtrrror: invalid syntax
cj f irst': 1, 'second': 2, 'third': 3)

Select the correct output of the following String operations

strl = "my isnameisisisjaeisisis bond";

sub = "is";
print(str 1 .count(sub,'1))
Its b)6 c)7 d)8

Which of the following will give "Simon" as output?

str 1 ="John,Simon,Aryan"

")-pil"t(.t. 
L'l-7:-t2l\ b) print(str1[- 1 1:-7])

cj print(strr i- r r:-oi) d) print(str1[-7:- 1 1])

What will be the output of the foilowing $rthon code?

l2l

12)

12)

12l

12)

I2l

IX.
i= 1

while True:
if i%007 == 0:

break
print(i)
i+= 1

a)123456 b| L234567
What will be the outPut of the

c) error d) none of the mentioned

following PYthon code?
x.

i= L

while True:
if i7o3 == 0:

break
print(i)
i+= 1

a|I2b)123c)errord)noneofthementioned
xi. What does the following code print to the console?

if 5 > 10:

Print("fan")
elif B != 9:

print("glass")
else:

print("cream")

12)

2

a) fan b) cream c) glass d) none ofthe above
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xii. What d.oes the following cod'e print to the console?

name = "maria"
if name == "me1issa":

Print("usa")
elif name == "mary":

Print("ireland")
else:

Print("colombia")
a; isa b) maria c) Ireland d)Colombia

xiii. What will be the output of given Python code?

12)

12)

12\

strl ="hello"
c=0
for x in strl:

if(x!="1"):
c=c+ 1

else:
pass

print(c)
a\2 b) 0

xiv. What will be the output of the following Python code?

i= 1

while Fa1se:
if io/o2 == O:

break
Print(i)
i+=2

a) 1 b) 1 3 57 "' c) 7 23 4 "' d) none of the mentioned

xv.SelectthecorrectoutputofthefollowingStringoperations
strl = "my isname isisis jameis isis bond";

sub = "is";
print(str l.count(sub, 4))

a) s b\7

Solve anY three out of four

a.Definebroadcasting?DescribeRulesforbroadcasting?Writean.umpyt5]
program to-uro"a&st on different shapes of arrays where p(3,3) +

q(3).

b. Reshape the given input to 4 rows and 3 columns and write a python t5]

code to get sum of last column onlY?

Input: arr = np'array([1,2,3 ,4,5'6'7 'B'9'10'11'121)
ExPected OutPut: 30

c'Writeapythoncodetofindminimumand,maximumvaluesfromeachi5]
rowandcolumnsrespectivelyfromthefollowitg2-Darray.

Input: A 1 =numpy' array([ [3 4,4 3,7 31'lB2'22' li]'153'9 4' 6 6 I I )

ExPected OutPut:
Original ArraY= 1134,43,7 31

182,22,121
[53,94,66]l
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c) 6
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Min from each row: [34,12,531
Max from each col: 182,94,731

Describe subplot? Write a python code to plot sin wave and cosine isl

wave signal in vertical subPlot'

Q3 Solve anY three out of four

a.Differentiatebetweenwriteandappend'mode.?Describewithcodetsl
and examPle

b.WriteaLlserdefinedfunctionDisplay_odd-Lines()todlsplayoddt5]
numberlinesfromthetextfile'Considerfilenameas_friends.txt.

Friends are honest, Friends are best!

Friends are like keYgen, friends are like license keY !

We are nothing without friends, Life is not Possible
L

write a function count lines0 to count and display the total number

"i 
1i;"* from the file. Consid'ei fle name as - friends'txt'

Program:
f = open("friends.txt")
1 = f.readline0
12 = f .readline(18)
ch3=f.read(10)
print(12)
print(ch3)
print(f.readline0)
f.close0

tsl
C,

d.

Friends are hones t, Friends are best!

Friends are like keYgen, friends are like license keY !

We are nothing without friends, Life is not Possible

Considerfollowinglinesforthefilefriends.txtandpredicttheoutput
tsl

Friends are honest, Friends are bestl

Friends are like keYgen, friends are like license keY !

We are nothing without friends, Life is not Possible
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